Nombres Décimaux (E)

Trouvez chaque différence.

93,8-59,1 = 7,87 -4,26 =
13,6 -0,1 = 108 - 44,3 =
509 - 6,16 = 8,03-0,37=
892 -7,71 = 871 -0,229 =
3,33-0,712 = 623 -51,3 =
0,823 -0,292 = 91-80=

759 -27,3 = 12,1 -7,47 =
10-0,95 = 403 - 0,309 =
949 - 0,988 = 83,7-0,765 =
81,5-20,8 = 657 - 0,652 =
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Nombres Décimaux (E) Solutions

Trouvez chaque différence.

93,8 -59,1 =34,7 7,87 -4,26=3,61
13,6 - 0,1 =13,5 108 - 44,3 = 63,7

509 - 6,16 = 502,84 8,03 -0,37="17,66
892 - 7,71 = 884,29 871 -0,229 =870,771
3,33-0,712=2,618 623 -51,3=571,7
0,823 -0,292 =0,531 91 -80=11

759 - 27,3 ="731,7 12,1 -7,47=4,63

10 -0,95=9,05 403 - 0,309 = 402,691
949 - 0,988 = 948,012 83,7-0,765 = 82,935
81,5-20,8 =60,7 657 - 0,652 = 656,348
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